

Official Announcement

แจ้งอัตราค่าธรรมเนียม¹
และรายละเอียดสินค้า²
สัญญาซื้อขายล่วงหน้าต่างประเทศ
Global Derivatives

มีผลบังคับใช้ตั้งแต่วันที่

17 ธันวาคม พ.ศ. 2568

อัตราค่าธรรมเนียม (Commission Rates)

Category	CME product name	Product Name	Commission (USD)
Precious Metals	GC	Gold Futures	10
	QO	E-mini Gold	6
	MGC	Micro Gold	2.5
	1OZ	1-Ounce Gold	1.25
	SIL	Micro Silver	3.5
Base & Industrial Metals	MHG	Micro Copper	3
Energy	QM	E-Mini Crude Oil	4
	MCL	Micro WTI Crude Oil	3
	MNG	Micro Henry Hub Natural Gas	3
Interest Rate Futures	ZQ	30 Day Federal Funds	10
	ZT	2-Year T-Note Futures	10
	ZN	10-Year T-Note	10
Agricultural	ZC	Corn futures	10
	ZS	Soybean	10
	ZM	Soybean meal	10
Equity Index Futures	YM	E-mini Dow Jones Industrial Average Index	6
	NQ	E-mini Nasdaq-100	6
	ES	E-Mini S&P 500	6
	NKD	Nikkei Futures USD	7
	MYM	Micro E-mini DowJones Industrial Average Index	3
	MNQ	Micro E-mini Nasdaq-100 Index	3
	MES	Micro E-mini S&P 500 Index	3

อัตราค่าธรรมเนียม (Commission Rates)

Category	CME product name	Product Name	Commission (USD)
Currency Futures	MSF	Micro CHF/USD	3
	M6E	Micro EUR/USD	3
	M6B	Micro GBP/USD	3
	M6A	Micro AUD/USD	3
	MJY	Micro JPY/USD	3
Cryptocurrency Futures	MBT	Micro BITCOIN	8
	MET	Micro ETHER	4

รายละเอียดสินค้า (Product Specification)

Unit	Product Code	Product Name	Tick Size & Value
100.0 TRY Oz	GC	Gold Futures	0.10 per troy ounce = \$10.00
50.0 TRY Oz	QO	E-mini Gold Futures	0.25 per troy ounce = \$12.50
10.0 TRY Oz	MGC	Micro Gold Futures	0.10 per troy ounce = \$1.00
1.0 TRY Oz	1OZ	1-Ounce Gold Futures	0.25 per troy ounce = \$0.25
1000.0 TRY Oz	SIL	Micro Silver Futures	0.005 per troy ounce = \$5.00 Settlement: 0.001 per troy ounce = \$1.00
2500.0 LBS	MHG	Micro Copper Futures	0.0005 per pound = \$1.25
500.0 BBL	QM	E-mini Crude Oil Futures	0.025 per barrel = \$12.50
100.0 BBL	MCL	Micro WTI Crude Oil Futures	0.01 per barrel = \$1.00
1000.0 MMBTU	MNG	Micro Natural Gas Futures	0.001 per MMBtu = \$1.00
4167.0 USD	ZQ	30-Day Federal Fund Futures	1/2 of one basis point (0.005) = \$20.835 Beginning at 5:00 p.m. CT on the Sunday preceding the first business day of the spot month: 1/4 of one basis point (0.0025) = \$10.4175
200000.0 USD	ZT	2-Year T-Note Futures	1/8 of 1/32 of one point (0.00390625) = \$7.8125
100000.0 USD	ZN	10-Year T-Note Futures	1/2 of 1/32 of one point (0.015625) = \$15.625
5000.0 BU	ZC	Corn Futures	1/4 of one cent (0.0025) per bushel = \$12.50

รายละเอียดสินค้า (Product Specification)

Unit	Product Code	Product Name	Tick Size & Value
10000.0 AUD	M6A	Micro AUD/USD Futures	1/4 of one cent (0.0025) per bushel = \$12.50
1250000.0 JPY	MJY	Micro JPY/USD Futures	0.10 per short ton = \$10.00
0.1 IPNT	MBT	Micro Bitcoin Futures	1.00 index point = \$5.00
0.1 IPNT	MET	Micro Ether Futures	0.0001 per Australian dollar = \$1.00

รายละเอียดสินค้า (Product Specification)

Product Code	Product Name	Operating Hour
GC	Gold Futures	Monday – Saturday Without Daylight saving [Nov-Mar] Operate : 6.00 AM - 5.00AM Break : 5:00 AM - 6:00AM
QO	E-mini Gold Futures	
MGC	Micro Gold Futures	
1OZ	1-Ounce Gold Futures	
SIL	Micro Silver Futures	
MHG	Micro Copper Futures	
QM	E-mini Crude Oil Futures	
MCL	Micro WTI Crude Oil Futures	
MNG	Micro Natural Gas Futures	
ZQ	30-Day Federal Fund Futures	
ZT	2-Year T-Note Futures	
ZN	10-Year T-Note Futures	

รายละเอียดสินค้า (Product Specification)

Product Code	Product Name	Operating Hour
ZC	Corn Futures	Monday – Saturday No Daylight saving [Nov-Mar] Day : 7.00 AM - 7.45 PM Night : 8:30 PM - 1:20AM
ZS	Soybean Futures	Daylight saving [Mar-Nov] Day : 6.00 AM - 6.45 PM Night : 7:30 PM - 0:20AM
ZM	Soybean Meal Futures	
YM	E-mini Dow Futures	
NQ	E-mini Nasdaq-100 Futures	
NKD	Nikkei (USD) Futures	
MYM	Micro E-mini Dow Futures	
MNQ	Micro E-mini Nasdaq-100 Futures	
MES	Micro E-mini S&P 500 Futures	Monday – Saturday Without Daylight saving [Nov-Mar] Operate : 6.00 AM - 5.00AM Break : 5:00 AM - 6:00AM
MSF	Micro CHF/USD Futures	Daylight saving [Mar-Nov] Operate : 5.00 AM - 4.00AM Break : 4:00 AM - 5:00AM
M6E	Micro EUR/USD Futures	
M6B	Micro GBP/USD Futures	
M6A	Micro AUD/USD Futures	
MJY	Micro JPY/USD Futures	
MBT	Micro Bitcoin Futures	
MET	Micro Ether Futures	

รายละเอียดสินค้า (Product Specification)

Product Code	Series
GC	Monthly contracts listed for 26 consecutive months and any Jun and Dec in the nearest 72 months.
QO	Monthly contracts (Feb, Apr, Jun, Aug, Oct, Dec) falling within a 24-month period for which a 100 troy ounce Gold Futures contract is listed.
MGC	Monthly contracts listed for any Feb, Apr, Jun, Aug, Oct, and Dec in the nearest 24 months
1OZ	Monthly contracts listed for any Feb, Apr, Jun, Aug, Oct and Dec in the nearest 24 months
SIL	Monthly contracts listed for 3 consecutive months and any Jan, Mar, May, July, Sep and Dec within the nearest 12 months.
MHG	Monthly contracts listed for 23 consecutive months and any Mar, May, Jul, Sep, and Dec in the nearest 63 months.
QM	Monthly contracts listed for the current year and the next 5 calendar years. List monthly contracts for a new calendar year following the termination of trading in the December contract of the current year.
MCL	Monthly contracts listed for the current year and the next 3 calendar years. List monthly contracts for a new calendar year following the termination of trading in the December contract of the current year.
MNG	Monthly contracts listed for 24 consecutive months
ZQ	Monthly contracts listed for 60 consecutive months
ZT	Quarterly contracts (Mar, Jun, Sep, Dec) listed for 3 consecutive quarters
ZN	Quarterly contracts (Mar, Jun, Sep, Dec) listed for 3 consecutive quarters New contract months become
ZC	9 monthly contracts of Mar, May, Sep and 8 monthly contracts of Jul and Dec listed annually after the termination of trading in the December contract of the current year.
ZS	15 monthly contracts of Jan, Mar, May, Aug, Sep and 8 monthly contracts of Jul and Nov listed annually after the termination of trading in the November contract of the current year.
ZM	15 monthly contracts of Jan, Mar, May, Aug, Sep and 12 monthly contracts of Jul, Oct, Dec listed annually after the termination of trading in the December contract of the current year.
YM	Quarterly contracts (Mar, Jun, Sep, Dec) listed for 4 consecutive quarters.
NQ	Quarterly contracts (Mar, Jun, Sep, Dec) listed for 6 consecutive quarters.
NKD	Quarterly contracts (Mar, Jun, Sep, Dec) listed for 12 quarters, and 3 additional Dec contract months

รายละเอียดสินค้า (Product Specification)

Product Code	Series
NKD	Quarterly contracts (Mar, Jun, Sep, Dec) listed for 12 quarters, and 3 additional Dec contract months
MYM	Quarterly contracts (Mar, Jun, Sep, Dec) listed for 4 consecutive quarters.
MNQ	Quarterly contracts (Mar, Jun, Sep, Dec) listed for 5 consecutive quarters
MES	Quarterly contracts (Mar, Jun, Sep, Dec) listed for 5 consecutive quarters
MSF	Quarterly contracts (Mar, Jun, Sep, Dec) listed for 2 consecutive quarters
M6E	Quarterly contracts (Mar, Jun, Sep, Dec) listed for 2 consecutive quarters
M6B	Quarterly contracts (Mar, Jun, Sep, Dec) listed for 2 consecutive quarters
M6A	Quarterly contracts (Mar, Jun, Sep, Dec) listed for 2 consecutive quarters
MJY	Quarterly contracts (Mar, Jun, Sep, Dec) listed for 2 consecutive quarters
MBT	Monthly contracts listed for 6 consecutive months, quarterly contracts (Mar, Jun, Sep, Dec) listed for 4 additional quarters and a second Dec contract if only one is listed.
MET	Monthly contracts listed for 6 consecutive months, quarterly contracts (Mar, Jun, Sep, Dec) listed for 4 additional quarters and a second Dec contract if only one is listed.